[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— T —

2 E : : :

O e R Proereee P
o -
$0.14
o
50.12 ! : :
04 ypyeieeeeeees e R
0.08 un 3 R EREREEE Feeeeeeeeen e
0.06F - H{ {1 [--: - SRR e

..........i..%‘g“;;;:':::::::::2::

0.02

o G: . |||||||| ! |||||||| L1y X o 111111
= I AR
14 ig 5
08 HAEF A -t TR {4k fe -
(o] == CUERE LERER) BER 38 20 5570 Y EEERY B A1 CEREREPERERD

1072 1

10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWTepo10

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0
1.4

12f---- SRS
I AR A
0.8F -4

Ratio

TP vert z (cm)

[ Efficiency vs. sim PV z |
N 0.2
>

20.18
£

=0.16
20.14
oy

20.12
0.4
0.08F -4
0.08f-----
0.04fF----hee-i-
0.02f---wieenvi
o\ P T FUUIN DU BN R

efticie

Ratio

0.9F----- j~ ----- 5

=
A
= rerers
—H—'. 2
el

0.8}

1015 20
Sim. PV z (cm)

51510



	Contents
	Page 1


